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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series. -

2. Write clearly the Question Booklet Version Code A, B, C, D orE, in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 70 questions carrying equal marks. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. Allthe answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer
Sheet is collected. After handing over the OMR Answer Sheet to the Invigilator
you may leave the examination hall.
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1. The permissible thickness of plastic covers to be used especially for packaging

foods is

a) 100 microns b) 10 microns c) 40 microns d) 20 microns
TRAF® WO BB, DXHT, TR ST ROTTFI VTO3RENRLITOTO ?

a) 100 837 b) 10 &%, c) 40T, d) 20 BT’

2. The disease hepatitis is caused by
a) X-rays ' b) Radioactive rays
c) Contaminated water d) Allthe above
BT LRT 50T BTOOT YVOEDRITTS
a) g - 809 b) Begcdee Td  €) O WOJS d) 0O e,

3. Terrace forming is practiced in the
a) Hills b) Plains c) Deserts d) Coastal areas
RBoeeR IS A0 BRI BB
a) B BIES  b) 3TN IRB  ¢) TTHMWI d) Fooese BTeS

4. The region where river meets the sea "

a) Delta b) Ecotone c) Shore d) Estuary
. RBOT, TN B0 Feddes N
a) B, b) ssgectines” c) Beeo® d) 3030

5. Vermi composting is carried out by
a) Soil fauna b) Earthworms c) Fungi d) Insects
TAE TIOTPEAON” &Y TRRD e
a) SN b) BB c) Fors, .d) Bee3nsd
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6. Besides sanitation, P-M. Narendra Modi's ‘Swachcha Bharath’ movement, addresses
a) Sewage treatment b) Solid waste management
c) Water treatment d) Air pollution control

BRR0S, 3ReQ0DRT Y, z;adé e:szf)omsaﬁ) 8 FF S 20ea0 RS B3 3N
om@dab X B BT ORIZTE 7

a) T :0&63 eb&)e??dsa : b) IR AR B
c) e@:‘o’ Eb&eédsa - d) asaodwaba@d 33
7. Development causing minimum damage to environment is
a) Slow development b) Rapid development
c) Sustainable development d) Allthe above
SOTIWOE, R, 30058 BRBERD mpﬁ Esﬁ IR
a) I eﬁtpm’ a b), de, WRRA c) »:wd SN o] d) 0O R,
8. Smog refers to mix of = |
a) Smoke +Dem b) Smoke + Pallen
c) Smoke +Fog : d) Smoke + Water Vapour
AR T3 ' '
) BeR DR AR s b) Zert =08 Ioon
c) 3eR abéa T00% ) s oip abéo QEOR B
9. The organic matter content in solid wastes can be used to produce
a) Compost b) Biogas - ¢) Humus d) Both (a)and (b)
ﬁé@%cﬂ@m&ﬁ DI TORD ojaa%ﬁeéa’a 23 89N 0INR)TO em:a'a B3R WHRWBIT ?
a) BOTWPEAT, ' b) wodeErWR" :
C) BRI d) (a) =22 (b) QDOBR

10. The Child Labour (Prohibition and Regulation) Act of 1986 prohibits employing
children below the age of

a) 15years b) 18years c) 16years d) 14 years
mmmré(mm a)zoo:oabd) S0, 1986 HF9T 03 TSRS BB RowBN
3RRBRS, RO ?

a) 15 mrﬁeﬁo b): 18 SRR c) 16 JRFNA d) 14 SREND
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13.

14.

15.

16.

Normal body temperature of an adult is

a) 98.6°F b) 96.8°F c) 94.6°F
BeHRBY, WRRY BeE g
a) 98.6°F b) 96.8°F c) 94.6°F

The approach to Unani Medicine, first started in

a) Greece b) India c) Germany
O30T V=Y a’c(ﬁpéom BT CIRES BB, SBIB3I 7
a) Nex® b) o2 C) =IF

Technology for generation of energy from wastes is
a) Mineralization
c) Segregation
3,008 VTS 3&1}3@@0&@0 VT3 ReARS 30@233@‘3

a) DVeITeD b) $3e805
C) JZesesTen

The “Rain forests of oceans” refers to
a) Coral reefs b) Minerals

VD) TINTT TIFTTRING D03 F0HORS

[0

c) Seaweeds

a) oRY Quned b) 20Qdwnsh C) 3B 3P
The following are general soil pollutants
a) Chemicals b) Pesticides c) Fertilizers

ARNPE IR HRRROZHR), LVoLIBRETT ?
a) DORORRBNED b) dct3mozEnsh c) 323 rioug

Pulse Polio Immunization was launched in India in

a) 1980 b) 1995 c) 1975
WUBRY) Hpedodne wag T T T,TORTE SARE
a) 1980 b) 1995 c) 1975

b) Sedimentation
d) Biomethanisation

US - 680
d) 99.6°F
d) 99.6° F

d) USA

d) o305 ..

d) wodnedrg Ry

d) Sediments

d) oe3odonsh

d) Allthe above

d) eS8 aen,

d) 1990

d) 1990
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17. Chemical adulterants for tu rmeric commonly used is
a) Cadmium chloride b) Copper sulphate
c) Lead chromate . d) Metanil yellow
OOTY, 200302 BRBEO LVTOIRENRIE TR O3ORT A
a) 500 Eiolejy b) BWO" IS c) & B d) S0t LIRS

18. The vaccine used for polio prevention is

a) OPV b) DPT c) MMR d) BCG

TPeOOIREII), SENBLO VRBO3RENRID VB

a) OPV b) DPT c) MMR d) BCG
19. The natural habitat for Indian lions is

a) Nagarhole b) Gir forest ~c¢) Sunderbans d) KanhaNP

2300030 AOBNG A ;szp'o&)% NeOR CINRTWI?

a) TNOERS b) no® 0y ¢

c) ROOTO W, d) T TodE00 ST, TR
20. The ecofriendly fuel is

a) Petrol b) LPG c) CNG d) Kerosene

TORG Ao SO

a) NedR e’ b) F.&.%. c) R.aF.%. d) 30’
21, Polio is caused by

a) Virus b) Protozoan c) Bacteria d) Fungi

Bpedodee SUOERTIRT C3RT)TO0T ? '

a) FOA° b) 3 cedReTER C) ¥3,Be0CIN d) 89ecq,
22 Chlorination of water is done for

a) Removal of turbidity b) Disinfection

c) Increase in oxygen d) Decrease in oxygen

260 ZREOREBTLINOTONID VOO

a) Mo3BLIHIFCOD 3@ _ b) derwesd QBT O

C) SEWITE BUF " d) EReIs 3R
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23.

24,

29,

26.

27

28.

The Forest Conservation Act was enacted in

a) 1974 b) 1972 c) 1986 d) 1980
ojao) ﬁoc’a;m FIO00T 3N WRFTE 2OCIRON ?
a) 1974 b) 1972 c) 1986 d) 1980

Which of these gases filter high energy solar radiations from reaching the earth’s
surface ?

a) Oxygen b) Nitrogen c) Ozone d) CO,
QRNTS O3RN WAV 503 a&dmﬁe;faig{ & 0BT ?
a) SRRIT b) Jedn e’ C) tees® d) CO,

International Yoga Day is celebrated on
a) June 16 b) June 21 c) May 22 d) September 17
@oédm%ecd:: odeen DO/BI), HOT 523080T 2

‘a) mea16 b) w21 c) S22 . d) Raoror 17
Acid rain comprises of

a) Sulphuric acid and ozone b) CO, and nitric acid

¢) Sulphuric and nitric acids d) Sulphuric acid and CO,
SOSENSOwwIbele S Eoviavninta

a) BoR, OF ©R) B8 Lre b) CO, a8y Fesee ey

C) ROR,08 By Fr35° ey d) Few 05 &) = CO,
Starch and animal fats are used to adulterate

a) Paneer b) Milk c) Butter d) Khova
MWW E DY 7,303 iraw% SRR T BITER wﬁodramﬁaa_oﬂ 39

a) JeT® b) =oen c) B d) 3eczm
Minamata disease is causéd due to pollution by

a) Arsenic b) Lead c) Mercury d) Cadmium
JRNE BREN:Y) BLF0E C3RFT3 mé)gaccﬁ V0PI 9

a) SR b) aex . C) JBYFO d) 58030
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29. Which among these, is a life style disease 2

a) Dysentery b) Obesity c¢) Jaundice d) Influenza
2RI %@o@:»od eVOEINIES TN
a) 370 b) W, C) 2PORR" d) a5’ FReSo0ED

30. Environmental Protection Act was passed in

a) 1990 b) 1981 c) 1986 d) 1974
EPA (0=3 BoTg 5 590035) O3R), O3 BRFTY, 2ORRTATIOWE ?
a) 1990 b) 1981 c) 1986 d) 1974

31. Vector for transmission of malaria is

a) Anopheles b) Aedes c¢) Housefly d) E. coli
I 235630030 BRENY) B3 FFNT C3RTTO0T %ddogtﬁl‘?
a) PO b) HBER® C) IR * d) a-30d

32 Rickets is caused due to deficiency of

a) Vitamin—A b) Vitamin—D c) Vitamin—B d) Vitamin—C
o8t BRI 03003 2ERH,T BRTS00T W3IBE ?
a) QB A b) Qe D c) Qe B d) Quena* C

33, Siddha system of medicine is most prevalentin

a) MadhyaPradesh b) Jharkhand c¢) Tamil Nadu d) AndhraPradesh

?ucgp ST secdd aﬂzz’gpéojw B3 BRBTY, TR B0rBIWTIBTS

a) Ro7, BHE3 b) POFOE C) BRPOTW d) o5 TR
34. Coolant used in refrigerétors_is

a) Nano liquids b) CFC ¢) Liquid N, d) Liguid gases

B wTeeso NP, VTO3RENROD BRBOE®

a) R T b) CFC c) 3R IR d) T @Y
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35.

36.

37.

39.
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The Ebola disease is caused by
a) Fungi b) Bacteria c) Viruses d) Protozoan
QL PCH d;aen’ﬁé :pletao __
a) &deogy b) 23,8¢0037% c) o= d) Rpcedncneme
Paddy field is an example of
a) Fresh water ecosystem D) Terrestrial ecosystem
c) Engineered ecosystem d) Marine ecosystem
WP OB YT, YVTHBTES
a) ebc{fp Qe0T TWORT b) ¥ 030
C) 2087 WORT d) 3@ Jo33

Thermal pollution causes

a) Increased CO, in water

b) Increase in BOD

c) Increase in COD

d) Decreased dissolved oxygen in water
SR IR 00T [0 HVoERRWBIRD

&

a) 26039 CO, BRRed 203 b) BOD Zxwee 908

c) COD ZTzne 03 d) 039 TONT IS 3R
National Tuberculosis Research Institute is located in

a) Jaipur b) Delhi c) Bengaluru d) Hyderabad
024,603 FORTREN RoZReF FeoTwy) 9T ;

a) ¥PT b) = Cc) Wongedd d) Zuooeee®
Which of the following is not a Green House Gas ?

a) CO, b) CFC'’s c) Methane d) Oxygen

83 BINTHNTS_ cIRTHT0 BATH 0T 92w ©Q?

a) CO, b) CEC b . c) Fe* d) esDss
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40. Black lung disease is an occupational hazard of _
a) lron ore mining b) Coppermining c¢) Coal mining d) Lead mining
), @:%:u’%.raeaﬁ FOS030 B3 FENST CCRYTT n’_sém@éo&)od WSS ?
a) #e%sa b) =&y c) a-’@m%w d) ez
41. Wastes generated by discarded computer peripherals
a) Computer waste b) E-waste
c) Solid waste d) Hazardous waste
TOTRLO T BOWORAT B3, %45K2
a) TOTRT" T/ b) -2 C) PI:|/K d) SeRETE %
42. HIV infection mainly causes
a) Liverfailure b) Decreased immunity
c) Cancer -~d) Kidney failure
" HIV Zpeoss Rs), Bomwad 5
a) PWSTIONT BP0V b) &Beers 3§ BREICINPMITYTO
C) WI0° d) BegRerEE 8Rosd
43. Sewage finally flows into water bodies causing
a) Eutrophication b) Bioaugmentation
c) Biodegradation d) Bioaccumulation
Beve8 Qe BOROTIQUAPH BT TBOOT SRS O
a) odwetineadess’ b) wodee srjotdes®
C) wodne BREEST d) wodee @RV ST
44. Improper sanitation and disposal leads to
a) Ground water discharge b) Ground water loss
c) Ground water contamination d) Ground water recharge
T9% FWOF ODVNTI)TO0T BN BOTTO)
a) e03%F O 0T b) wogxro IR
c) wosnromndy _. d) e903RF© 0N
SPACE FOR ROUGH WORK
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46.

47.

48.

49.

a) Seawave energy

c) Tidal energy

RABNTT SNPeT BOBOTReERF AR B8
a) ARG, o 38

C) ¥rer 38

Predominant reason for global warming is

a) Land Pollution b) Air Pollution

-11-
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45. Removable energy generated from sea waves

D) Ocean thermal energy
d) Allthe above

b) F=00% 205033 B8
d) 0T e

c) Water Pollution d) Solid Wastes

IIONET BTN DTIRBAIN VT3 ézdeﬁaﬁd Sgecta)

a) BRSROF b) ™% dm@d

Major impact of mining activity is
a) Stream/River silting

c) Water pollution

NESLOBOR 08, FHOFHED

a) I/ BTN TR T

c) ::;@im@a;

Who is regarded as father of Yoga ?

a) Sushrutha b) Pathanjali
‘odnen’ TWAT 2B
a) A3 : b) TIowd

WWF is an acronym for

a) Wildlife World Fund

c) World Wildlife Finance
WWF 8 &5 8 e

a) ST BOF Fow®

C) ﬁ@‘;«-‘ &ZU‘ @q) e%maf

c) *‘;\aﬂ aba@a); d) q’ﬁ@%&%

b) Dust pollution -
d) All of the above

D) FR9R0T SRAF,
d) 30e93 e

c) Charaka d) Dhanvanthari

c) BU3

D) World Wide Fund for Nature
d) Wildlife World Finance
b) 3& % POE® FTRT® Je230°
F ST ﬁt‘?‘ F RO,
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50. Deforestation in the Idng term leads to

a) Loss of biodiversity

c¢) Soil erosion and drought
Sleobantt ATRTFEN [TO0T
a) eI FRFI0D I

C) PR =03) Wl

RO

b) Loss of habitat
d) All of the above

b) SFe3ed CIDRRT 0T
d) 88 B0edT e,

51. Geothermal energy is

a) Turbine energy b) Solarenergy

c) Heatenergy d) Electrical energy

RN BEOT LoD

a) mY 33 b) X°3 33 C) VR T8 d) dmye T3
52. Radiations trapped on earth’s surface by green house effect are

a) X-rays b) IR rays c) UV rays " d) Allthe above

BAT TS DOFTODTA RS & eBORRE 3060

a) §- 30 b) esériowm) 83 C) ©&35eT% 39 d) 83 RIS e
53. The units to measure noise levels is

a) Ohm b) Pascal c) Decibel d) Calorie

BT a‘@z&nwd&q peiafelelafC evevnlel

a) 2ao° b) wRe* C) B’ d) 5,deed
54. Which of the following is not a water conservation method ?

a) Improved irrigation b) Rain water harvesting

¢) Ground water removal | d) Reducing water wastage

JU e HOTTF DRSRY,

a) YUZE) JeTHTO VG b) 0¥ Qe ER030,

C) ©0BRFO 3RS d) Qe0 BeeToNT BBOZ0R)TD
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55. ‘Tiger State’ was first referred to
a) West Bengal
c) Madhya Pradesh
33 DRI, TOONY 0oz, 20330 B30T
a) =9z wored b) FoFess

56. Smoking in public places is an offence
a) In restricted places
c) Yes
ORI WT %@;H@Q ROV JRCDIT
a) %o ﬁ@#ﬁ@@mmg
C) T

57. Recyclable solid wastes could be

US - 680

D) Kamataka
d) Gujarath
C) T3S d) rozoez®

D) In institutions
d) In parks

b) Fgeondd) Bng
d) RIIINGS =g,

a) Paper b) Glass c) Metals . d) Allthe above
YDTORUBHRE 31, CUrDBOR
a) N b) mozo c) Seeansd d) RoeO3 e
58. Wildlife (Protection) Act was passed in
a) 1952 b) 1984 c) 1972 d) 1964
_ daggzseo‘b(:dodim) aaoo’%abdg( TPON o8 T=F
‘a) 1962 b) 1984 c) 1972 d) 1964
- 59. Example of an inexhaustible resource : :
a) Coal b) Natural gas c) Fossil fuels ' d) Solar
ROTTPEDF R ROTINWE QVTHBTES
a) 39T b) R, WPIF @Rw c) SPoowd d) ReoDF33
60. Goitre disease is caused by deficiency of
a) Zinc b) Iron c) lodine d) Calcium
n¥noRE Brensy) Bwd 3030000
a) 33 b) 8o c) soleean’ d) 5,030
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61.

62.

63.

64.

65.

Asthma is caused by the following pollutants

a) Pollen dust b) Particulates c) Ozone d) Allthe above
R THONGOIN QBOOT BOYIVRIBTS |
a) Woondee b) FRPT T c) Ldpea® d) SO 2R,

Low blood platelet count is characteristic cf

a) Diabetes b) Malaria c) Dengue d) Cholera
TF0 | Feer e ne Kosd QPTNDTONIRTO 83 BRENT VTED
a) AT, b) oejedods c) Bons, d) o

Adding non-food substances to food is called

a) Alteration b) Mixing c¢) Adulteration d) Addition
335 a0t 9E0 FRyTIFR TR 20w

a) RO b) &0Z SRBPT ) FOWOE d) Beomo)T0
Sewage discharge into water bodies results in

a) Decreased BOD b) Increased in BOD

c) Decreased COD d) None of the above

T, DECI), 398, VRITYTOT

a) 2.5.8. FRBOCRM) b) 2.%.8. ﬁwauﬁ)@do

C) 2.2u.&. TRBOOTRNYT) d) c3nRTe LY.

A biodiversity hot spot in India is

a) Nanda Devi b) 'Dimbam Ghats  ¢) Western Ghats d) NandiGhats
83 BINSYNTS), 03RRI PTZT WOSRETETAFES TEF R’ 7
a) JomTeR b) QoLoo TR, c) WO pwnss  d) SlelakAI]
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66.

68.
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The effect of carbon monoxide released by automobiles is that in human systems, it
a) Reduces hydrogen b) Reduces oxygen
c) Reduces CO, d) None of the above

TOBINYOT WEINEOING FTWED” airam% A e d);ba’%d TeDE) 3R 03
%@a’nomm@fd ?

a) BORIF b) =
C) QOMWOT & &3 &= d) czEe vY
The chemical DDT is
a) Semibiodegradable b) Biodegradable
c) Non-biodegradable d) Naturally degradable
B.3.83. 0 52 FINS o3 0680 TIWONNT [ ?

a) R wolseRnidus” b) wadneari@es
C) -2 Méric%‘wﬁ d) 2,83009 @ndwe’
Deficiency of which vitamin leads to night blindness 5
a) Vitamin—-C b) Vitamin—-B c) Vitamin—-D d) Vitamin—A

8 a’:d.,mo‘*i 33 26358, T3 SR030000T LVoERMIST

a) s - b) DEIT® - 2 c) DB - & d) DT - &
Automobile air pollution is controlled by
a) Electrostatic precipitators b) Cyclone separators
c) Catalytic convertor d) Fabric filters
TOBINTOTI WIS BROWCT SDCINTROF /) SEREID
a) OCER FRLT BT’ ) Né@_ga‘ RBBee307,

C) ® é&qﬁa‘ ﬁﬁ_ 83Fo° d) YT QoT°
In biogas, the chief component is
a) Sulphur b) Carbon monoxide

¢) Methane | d) Hydrogen
208 @ROT a’ms) e
a) nogss _ : b) comon Remed &

C) T 2 d) moxse
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